—pAI

"#$% &'

FISCHE,

Ingenieurbiro GmbH



Dl_ﬁ EIEETEN

Ingenieurbiro GmbH

@Bedburg

SRSl

I "H% &



"#$% &'

FISCHE, -

Ingenieurbiro GmbH




"#$% &'

FISCHE,

Ingenieurbiro GmbH



FISCHE, -

Ingenieurbiro GmbH

DHI w1 1+ v 1

"HE !

Legende

:'_-:. Einzugsgebiet Dickopsbach

= Gewdsser und Graben
Kanalnetz

1. _1Gemeinden

Prognoseflachen

Siedlungsflache
Mischwassersystem
Trennsystem

I "H% &



2§ FIZCHER
DHI w1 1 1

Ingenieurbiro GmbH

#%# %
84%
7
s &2% 66
£4% 9%
© 7
© &&$
#$ 66
3
8 * 4
43
2%
& $3% & 23% " $5% " 2% 4 5% 42$% % $5%
&$
v
'$ 66

I "H % &



FISCHER

DHI () 1 # 1+ * 1 Ingenieurbiro GmbH

I "HE% &



FISCHER

DHI () 1 # 1+ * 1. Ingenieurbiro GmbH

" ( | & *
MIKE MIKE"
& 1)

I "H% &



FISCHER -

DHI () 1 # 1+ * 1 Ingenieurbiro GmbH

- w N ‘
MIKE" MIKE"

I &

vy DHI

& )

(*

MIKED

)

L "#$% &



ISLHE.

DHI () 1 # 1+ * 1. Ingenieurbiro GmbH

-

7’
7 !

(.7

AR
7’ /
/ P s
(-

I "H% &



FISCHE, -

Ingenieurbiro GmbH

DHI O1 1 .

USG fiur T = 100 a
Wasserstand U. GOK

[ ] <2-5cm
- 6-10cm
B 11-50cm
- >50cm

I "HE% &



— ISLCHER
DHI () 1 1 1 Ingenieurbiro GmbH

I "HE% &



ISLHE.

DHI () 1 1 1 Ingenieurbiro GmbH ~—

/0

! *
: ©
%
___ S,
( \ e
2
=
—
)
/ . )
< USGfiurT=30a
Wasserstand . GOK
J
VO D <2-5cm
I 6-10cm
I= - 11 -50 cm
- >50cm
—

I "HE% &



— DHI

FISCHE,

# 3
)
-/
SR
/

<
-/
SR
=
—

)

1

Ingenieurbiro GmbH

USGfurT=20a
Wasserstand . GOK

[] <2-5cm
- 6-10cm
B i1-s50cm
- >50cm

Uberstaute Schachte fir T =20 a
kein Uberstau

Uberstau vorhanden

I "HE% &



Ingenieurbiro GmbH

2§ FIZSCHER
DHI R

# 0O 3 I# '
#
*
/14 ]
# 3 USGfirT=20a
Wasserstand 4. GOK
s [ <2-5cm
- 6-10cm
B 1-s50cm
- >50cm
%ott 0 !
' ‘ / * x>
/ + > %
= x> > > @"$
A & )
N—— A &
)
DA " )
1= A
A )
—__ A

I "H% &



FISCHER

DHI () 1 1 1 Ingenieurbiro GmbH

USGfurT=20a

Wasserstand (. GOK

|:| <2-5cm
I 6-10cm
B 11-50cm
- >50cm

I "H% &



ISLHE.

DHI () 1 1 1 Ingenieurbiro GmbH ~—

17 !

I "H% &



ISLHE.

DHI () 1 1 1 Ingenieurbiro GmbH

/0
V4
V4
¥V 4
¥ 4
,0)
/S
8
N
<
,’ S USG fur T=30 a

N/
/—\ , Wasserstand ii. GOK
:l <2-5cm
/ I 6-10cm
= B 11-50cm

—______/ Bl >s0cm
)
I=
—

IO"H$% &



— ISLCHER
DHI () 1 1 1 Ingenieurbiro GmbH

(o

I "H% &



)

MIKﬁ

Towvered Dy DHI

I &

1

1+ *

CHH

"#$% &'

I &

1))



)

1

1+

"#$% &'




)

1 1+ * 1 ' !

9 3 #5

& 0O B& | 0




0
<
!
' E
D

IO"H$% &

/0

D



